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[_ 4 7], compute A1 and show that2A-1 =91 _ A,

2. 1], show that A - 31 = 2(I+3A-1,

Leaps b
b
=|1 2 xfandA ~3|7! 6 -3/ find the value(s) of x and .
o3 1 12y 1

~ Hint. We know that A1 A =1,

e 2 Sila s :
6 IfA= [5 1] and B= [ 4 Ojl,venfythatadj (AB) = (adj B) (adj A).

. Find the inverse of each of the following matrices:

a0 0 =18 180
() A=13 3 0 @@ A=| 3 -1 1]
DI =1 =1 3" 4

 Also verify that AT A=T,,

58 5 |
(i) Show that A = [_1 _2] satisfies the equation A2 — 3A — 71 = O and hence,
find A-1.
. 8E =2 .
(i) IfA= [4 _2],thenﬁndthevalueof)usothatAz=}\.A—21. Hence, find AL

(i) Find a 2 x 2 matrix B such that B 1'_i]=[g g]

SEAIE 12
(z1) Solve the matrix equation [ ) A=[ 1 3].
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